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Com. (Part I) EXAMINATION, 2020
(Group-I : Compulsory)
Paper First
FINANCIAL ACCOUNTING
Time : Three Hours
Maximum Marks : 75
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Attempt all the five questions. One question from each
Unit is compulsory. All questions carry equal marks.
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(UNIT—1)

1. (3) YEIHeHE U4 dEed ¥ 9 N § 7 5
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What is ﬂj‘e'djflt'erence between Book-keeping and
Accountancy ?
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On October 20, 2019 Pradeep purchase 10 doz pairs
of golden ear-rings from Sunil @ ¥ 300 per pair, on
which there is a provision of a trade discount of 10%
and on payment within 10 days a cash discount of
8%. On October 26, 2019 Pradeep returned 20 pairs
of golden ear-rings and on October 29, 2019 he sent
a cheque for full settlement of his account.
Make Journal Entries in the books of both the parties
and open Sunil’s Account in the books of Pradeep.
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What do you understand by Capital Expenditure and

Revenue Expenditure ? Explain its various features. Why
differentiation is necessary between two ?
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z

= 2,45,000
St 20,000
PSR- 25,000
i 1,10,000
PN 93,400
UREE RId 1,62,000
e 7 22,400
P} g 13,150
o 72,000
Foe 62,800
e 25,000
FuER /79 (2Re) agd
i 78,800
. 6,53,600
e 1 4,70,000
e 20,000
ad FOT AR 9,000
A (37) 13,200
PR B AU 18,000
o He 38,500
S 800
N 33,000
b 1,050
(A-2) P. T. O.
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The following balances
are extracted on 31
from the books of Mr. Bhagwati Prasad : i

[51 DD-2003
Loan 78,800
Sales 6,53,600
Purchases 4,70,000
Motor Car 20,000
Provision for Bad Debts 9,000
Commission (Cr.) 13,200
Car Expenses 18,000
Bills Payable 38,500
Cash 800
Bank Overdraft 33,000 |.
Donation 1,050

Capital ?
w1 2,45,000
General Expenses i
Building L
Machinery W 5
Opening Stock i
Coal and Power e
Tax and Insurance i
ik 13,150
Debtors e
Creditors o
Discount (Dr.) i
5,500
(A-2)

Prepare the Final Accounts for the year ending on 31st
March, 2019 after taking into accounts the following
adjustments :
(i) Write-off ¥ 1,600 for Bad debts and make a
provision for Bad Debts 5% on Debtors.
(ii) Depreciate Machinery by 10% and Motor Car by
12%.
(iii) Interest of ¥ 7,500 is outstanding on Loan.
(iv) It was decided to transfer ¥ 2,500 every year to
Charity Fund.
(v) 1/3 of car expenses and depreciation amount is to be
transferred to owner’s account.
(vi) Stock valued on 31st March, 2019 was ¥ 2,35,000.
qar
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Explain with example errors of principle.

(A-2) P. T. O.
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A trader found difference of ¥ 1,500 in his Trial
Balance, which he debited to Suspense account.
Afterward the following errors were found. Give
correction entries and also prepare Suspense A/c :

(i)  The Sales account was undercasted by ¥ 800.

(if) ¥ 2,000 paid to Ramprasad was posted as ¥ 200
in his account.

(iii) Discount Allowed to Manish of ¥ 200, was
wrongly debited to Ravish’s A/c.

(iv) Proprietor withdrew ¥ 2,500 for personal use
was debited to Travelling Expenses A/c.

(v) Interest Received from Archana T 900 but was
credited to her account.

(A-2)
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TIE—3

(UNIT—3)

3., Qo f, @ 7 @ # 1 3, 2019 B T 40,500 BT

A o7 | BT 10% S B TR VA HANT g AR gRI
ST T 8| 1 JGCAR, 2019 B FA A UF wUA W
IR & TS oM, 7 8,750 # dw & ARy 1 3w, 2017 B
z 12,500 ¥ ma far war or| S & FFE A 25,000
F v T AAE B9 B 1 A, 2020 BN FEA B
HarES! ¥ 1 add, 2017 W HANC B TGN B WH R
wirf e vefd s @1 fvfy foran|

R B qel § af 2019-20 FT A e @ifert |

Sejal Ltd. has a balance of ¥ 40,500 on 1st April, 2019 in
its machinery account. 10% p. a. depreciation was
charged by diminishing balance method. On 1st October,
2019 the company sold a machine as it is useless for
¥ 8,750 which was purchased on 1st April, 2017 for
¥ 12,500. On the same date the company purchased a new
machine for ¥ 25,000. On 31st March, 2020 the directors
of the company decided to adopt the fixed method of
depreciation instead of diminishing method from Ist
April, 2017.
Open Machinery Account in the books of company for
2019-20.

34T

(on) |
yifa-ATaE WA AT - W A R 8?7 i
@ YaF WM B 9™ @ @ gd H few yer
wurRe s e 8 ?
What are the differences between Receipts and Payments
Account and Income and Expenditure Account ? How is
Receipts and Payments Account converted into Income
and Expenditure Account ?

(A-2) P.T.O.
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FHE—4
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Raman purchased a car on 1st April, 2016 from Bhupesh
on instalment payment system. The cash price of the car
was ¥ 4,00,000 and interest charged at 10% p. a.
The instalments to be paid were ¥ 1,20,000 each at the
end of each year 31st March, 2017, 2018 and 2019 and
last instalment is to be paid on 31st March, 2020
¥ 1,48,720. Depreciation is to be charged @ 20% per
annum on Diminishing Balance method. Calculate the
amount of interest and cash price in each instalment and
open the necessary Ledger Accounts in the books of
Raman.
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(Or)
ferar wa vt & Wl &1 Ry v wwg #ar @
faspar <1 el o gl ¥ @ o Al el wRifedt
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Mention the entries necessary in the books of the buyer as
well as the seller when goods are sold on hire-purchase
systemn,

(A-2)
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FHE—5
(UNIT—5)
X, Y @1 z & fagr 31 wrd, 2019 & Frifea e,
wafE SeF aEen @ auE o ol fear
z 4
ATER 2,000 | [raferdt 49,000
X @1 5,000
ﬁgxﬁ o 2
X 15,000
Y 18,000
Z  9.000 | 42,000 ,
- 49,000 49,000
wrftE W Freifea it et ¥ age g

worg fbva 2 1,000, fedia fbwa T 3,000, TR fwm
% 3,900, wgef fa % 6,000, Uierdi fwd T 20,000 |

TE AR 6 DT I AT 221 1 8, VhS B
e faaRer & fog @ fawer 9= aEe |

Following is the Balance Sheet of X, Y anc'i Z on 3lst
March, 2019 when they decided to dissolve the

partnership :

4 4
Creditors 2,000 | Assets 49,000
X’s loan 5,000
Capital A/c: ¥
X 15,000
Y 18,000
£ 9,000 | 42,000
49,000 49,000

(A-2) P.T.O.
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The assets realised the following sums in instalments :
First instalment ¥ 1,000, Second instalment ¥ 3,000, Third
instalment ¥ 3,900; Fourth instalment ¥ 6,000 and Fifth
instalment ¥ 20,000.
Prepare a statement for piecemeal distribution of cash
assuming that their profit ;haring ratiois 2:2: 1.
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TR 19,200 16,800
4% et 7,200 6,000
kSl | 33,600 14,400
60,000 37,200
Rt A B
®) ®
Al 12,000 7,200
<o 9,600 6,000
SR 36,000 22,800
RIS 2,400 1,200
60,000 37,200
(A-2)

A and B were doi .
2019 they decided to amalgamate their

Mofboﬂ\wmufollowsonthedate:

ng business separately. On 1st April,
: business. Balance

A B
Liabilities E 4
Creditors 19,200 16,800
Bank Overdraft 7,200 6,000
Capital 33,600 14,400
60,000 37,200
A B
Assets ® p
Machinery 12,000 7,200
Stock 9,600 6,000
Debtors 36,000 22,800
Cash 2,400 1,200
60,000 37,200

(A-2) P.T.O.
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Pass the journal entries in the books of new firm after
considering the following adustments and also prepare its
Balance Sheet :

(a) Goodwill is valued for A ¥ 14,400 and for B
T 4,800.

(b) Provision is made for doubtful debts @ 5% for A’s
debtors and 6% for B’s debtors.

(c) Stock of both are valued at 5% less.

(d) Machinery of A @ 10% and of B @ 12.5% is
written down.

DD-2003 10,300

(A-2)




